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SECTION 1 — CALCULATOR NOT PERMITTED

Candidate name (first, last)
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Candidate enrolment number Date of birth (DDMMYYYY)
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Assessment date (DDMMYYYY) Centre number Candidate signature and declaration*
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*] declare that | had no prior knowledge of the questions in this assessment
and that | will not share information about the questions.

Please check that your name is correctly printed on the candidate barcode label. If
not, please tell the invigilator before the start of the exam.

You should have the following for this assessment:
e a pen with black or blue ink

a pencil (for diagrams, graphs and charts only)

an eraser

a 30cm ruler

a protractor.

You must NOT use a calculator for Section 1.

General instructions

¢ Read through each question carefully.

o Write all your answers in this booklet.

e Check your calculations and check that your answers make sense.
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Recommendations

Based on your results from this initial
assessment, we estimate you are
currently at Level 1.5,

From this diagnostic, we think one of
the following courses would be

suitable:
Functional Skills English Initial Assessment

L Functional Skills
Maths Level 2

=35 @105
Start initial AssessmEnt

Functional Skills Maths Initial Assessment b3

Pick my own

Start initial Assessment

v’ Explainer videos on every topic

v'  Quick-fire style mutiple choice
questions

v' Test your knowledge with
exam-style questions

v Written solutions for all
questions

Course Completion %

Previous Results for Addition and Subtraction (including

16 TOPICS

Using Numbers

Start Learning

FUNCTIONAL SKILLS
ONLINE COURSES

v Your answers are analysed to
determine your Current Level

v Suggested courses for you to enrol
on based on your calculated level

v’ Always know the level you are
currently working at

v Determine when you are ready to
sit your exam

27.08% Complete

Or visit

See your progress through as you
progress through each topic area

Get your average scores for practice
questions, topic tests and mock exams

View all practice question, topic test
and mock exam attempts over time

View historical attempts to analyse
your progress over time
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Q1

846.7 + 100 =

LUt
(1 mark)
Q2 The volume of this cuboid is 24cm?,
B 4cm N
3cm
Ja
What is the value for the depth d?
[-(’K FRS A = 24
d = 2 2 em
o, B 2, (1 mark)
Q3
92=
|
(1 mark)
Q4
18-5x2=
(§- (O ?
(1 mark)
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SR N S

B c D

Which of the above has an angle of 180°?

(tick one box)

A ]
B[]
c [
b [V
(1 mark)
Q6
Wirite two hundred and forty-six thousand eight hundred and five in figures
24 €805
(1 mark)
Q7
What s Z as a decimal?
(tick one box)
A 0.4 P‘i
B 0.2 ['—J
c 025 | |
D 004 [ ]
(1 mark)
4
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Qs
-6+4=

(tick one box)

A -0 []
B -2 [/
c 2 [
D 10 ["j
Q9

What is the range of these weights?

40 kg 65kg 27kg 84kg 34kg

Qe - F = SF

Q10 At a rugby match 19 417 home fans and 2 648 away fans attend.

What is the total attendance, rounded to the nearest hundred?

(Al ¥
26 L g

21046 5

v !

’2’2(00 o
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(1 mark)
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(1 mark).

L2100
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(1 mark)
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Q11 A company conducts a survey. The survey asks people their ages.

The data will be grouped.

Complete the table with the missing age groups.

Age group boundaries

25 and under

26 - 35

36-45

46 - 55

56 - gLt

65 and over

(1 mark)

Q12 A manager wants to know the ratio of men to women in their factory. There are 135

men and 270 women working at the factory.

What is the ratio of men to women?

Q13 A fair has a spin the arrow game.
A player wins a prize if the arrow lands on a 5.

What is the probability of a player winning a prize?
Write your answer as a fraction in its simplest form.

[ speces L
A

End of Section 1

© The City and Gullds of London Institute 2018

[ o &
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Revision Cards
SHEE -.:--«%
Functional Skills Maths Functional Skills Maths
Level 2 Practice Papers Level 2 Revision Cards

Functional Skills English Level 2 Functional Skills Maths
Practice Papers & Revision Cards Level 2 Pocket Revision Guide

Or visit
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